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COMMON QUARTERLY EXAMINATION 2024

N -Standard IX Reg.No.| l LT ﬂ
MATHEMATICS :
Time : 3.00 hrs | | i &-l "y Marks.-joo ~
I Choc;sethocorroct'answer' | 14x1=14
1. IfA= {x,y,z} then thenumberofnon—emptysubsetsofAls
@) 8 S Bs5 ,c)a‘ 97
2. IfB-AisB,thenAnBis____. O O - - 48
8 A mwB  9uU ¢ |

3. Ina class of 50 boys, 35 boys play carrom and 20 boys play chess, then the number of
boys play both games is

a5 by 90" c) 15 i .dj1o
4, ForanythreesetsPQandR .P= (QUR)IS - .
a) P- @QnR) FEAb) (PnQ) -R
; ¢) P-Qu({P-R) = . - - d) (P-Q)n(P-R)
5. Which one of the following is nota rational number?
- [e R TR, & )it ' ~’
. @) J% b 3 c) Joot d) V13
- 6._'If\/56=k,/§,thenk‘= '
a2 . b4 . 08 d) 16
7. 4f7x2/3 =. | | |
a) 6/i0 . .b 82l ¢ &0 d) 621
8. If Jox - Yo2 thenx= ' :
2 . | 4 . 1 ‘ )
a 3 b) 3 °)'3 A3
9. |Ifx®+6x2+kx + 6 is exactly divisible by (x +2) thenk = ? 2
a) -6 b) -7 c) -8 a1
A
{
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10.

11,
12
13.

14,

23t 0 IX Maths

The root of the polynomial equation 2x +3=01is

Q) 3 ) —3 0 -5 'd)—f_

If p(a) = 0 then (x—a) is a _ ofp. , |

a) divisor L b) quotient c) remainder - d) factor

Cubic polynomial may have maximum of linear_ factors. 3
‘a) 1 b 2 . ¢c)3 - d4
GCD ofanytwo prlmenumbers ls__'_ g 7 %
T I X 91 g2

The extSnor angle of a tnangle is equal fo the sum of Wi o -

a) exteriorangles .= = .. b) mtenoropposnteangles
_-c) alterhateanglés e i d) mtenorangles i

TR e TRl paneg
.Answerany10 questlons (Q No 28is compulsory) S 10x2=20

15.

Write the set of letters of the foIIowmg words in Rosterform

) ASSESSMENT i) PRINCIPAL

16.
17.
18.

19.

20.
21,

- 23

24,

erte down the power set of the Set B={1,2 3}
Find the symmetric dlfference bethen thesets P = {2,3,5,7.11} andQ={1,3,5,1 1}.
Draw Venh_,diagram for (HAL B () AnB:

7

Without actual dwnsmn fi nd the kind of decimal expansron of =& 128

Find any two rational numbers between 2.2360679
Simplify : 375 +5/48 - /243

. _ . 5
Rationalise the denominator 35

---------

Express in scientific notation :
i 9768854 i)y 0.04567891
Find the GCD of 9a2b2c3, 15a3b%c*

__ ¥ SN a
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28,

Hii.
29,

31.

32,

33.

35.

. The angles of atrlangle are In the ratlo 1:2:3,

- Write the following in scientific notation : (300000)° x (2000)*
- 37.
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3 IX Maths

5, 18 (x=1) I8 afactor of X¥ 4 Gx2 = 10x + 4
. Faclorlse ; x?+ 2x - 80

Find the measure of each angle of the
trlangle,

Expand the following : (x + 5) (x +8) (x +4)
Part - Il
Answor any 10 questions. (Q.No.42Is compulsory)

Find the number of subsets and the number of proper subsets of a set
X= {a,b,'c,x,y.z} ' |

10x5=50

, LetU= {a,b,c,d,e,f,g,h}, A={b,d,f,h}and B ={a,d,e,h}, find the following sets.

DA )B WA UB WANB v (AUBY . |
IfA={-2,0,1,3,5}, B={~1,0,2,5,6} and C ={~1,2,5,6,7}, then show that

'A-(BUC)=(A-B) (A-C)

Ina class, all students take partin either music or drama or both, 25 students take part

in music, 30 students take part in drama and 8 students take part in both music and
drama. Find : : :

) The number of students who take partin only music
i) The numiber of students who take partinonly drama
iil) The total number of students in the class

Represent 4.863 on the number line.

. Arrange surds in descending order: ¥5, 97, 93

48 P AT -2 ,
Find the value of a and b if £+ i =aJ7 +b

\

Find the value of m, if (x— 2) is a factor of the polynomial 2x3-6x2 + mx+4 .

- Find the quotient and the remainder when (8y® - 16y2 + 16y — 15) + (2y — 1)
39.

Factorise x3 + 13x2 + 32x + 20 into linear factors.
If the quotient obtained on dividing

(84 - 2x2 + B — 7) by (2x + 1) is (4x® = 2x2 + px #+ q), then find p, q and also the
remainder. ' .

¢

é . | | iy

-
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.41.. Find allthe three angles of the AABC.
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IX- Maths"

42, Venfy (Au B)’ A' N B’ usnng Venn dlagrams

IV Answerallthequestlons :

<+ ;.4;3\’ .a)

b)
44, a)

Part A
' 2x8=16

Construct the ALMN such that LM= 7 5 cm MN 5 cm and LN 8 cm. Locate iis
centroid. :

(OR) »
Draw an eqwlateral tnangle of sides 6.5 cm and Iocate |ts Oﬂhocentre

Draw a triangle ABC where AB 8 cm BC 6 cm and AB 700 and Iocate s

cnrcumcentre and draw the cnrcumclrc|e

b)

o OR)

Constructthe in-centre of AABC withAB =6 em, AB 65° and AC 7 cm. Alsd

- drawthe in-circle and measure its radlus

wkkh Rk
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